Geometry A Name : Keu

Unit 1 Test Review Date : J Period :

Geometry (A) Unit 1 Assessment Topic List

By the end of unit 1, you should be able to...
Section 1.1

* Name points, lines, planes, segments, rays, and opposite rays.
e Identify intersections of lines and planes.

Section 1.2

¢ Find length of a segment using the Ruler Postulate and the Segment Addition Postulate.
¢ Compare segments to identify congruent segments.

Section 1.3

e Use distance formula to find lengths of segments.

* Use the midpoint formula to find the midpoint of a segment in the coordinate plane, or identify
a missing endpoint given the midpoint and one endpoint.

e Identify and use segment bisectors to solve problems.

Section 1.4

e Name angles, and identify parts of angles.

¢ Find measures of angles using the Protractor Postulate, Angle Addition Postulate.
e Classify angles by their measure.

* Identify congruent angles, and use angle bisectors to find measures of angles.

Section 1.5

* Find measures of complementary and supplementary angles
e Use vertical angle theorem and linear pair postulate to find measures of angles



Use the drawing below for #1-7. Use proper notation! (Section 1.1)

& &S & i

— o >
1. Give two other names for AB. AG BA,GA, 68, Be, \ne m

2. Name a line segment found in the sketch. Then state another name for it.

EE;, GA or E_U;_lﬁ (rmany possiviines)
3. Name all rays with endpoint G.

f;ﬁ. f)'.b’ ET%, (;_1:3 " E‘)E, (_:i M
4. Name the intersection of line m and the plane M.
PoInt G
5.1s it possible for two different planes to intersect in a line? If yes, give a real-world example.
Yes, a Floor and d wall, a building ¢ tne givand outside
6. Name three points that are coplanar. '

GO F o1 G, F ov EDF (many possipilines)
7. Name three points that are collinear.

G.(,F &% EGD of AGD
8. Draw a sketch showing a line intersecting two planes which do not intersect.

(41N of tnese ag 2 piewes of paper on tog of eath

/__H/ brher bur NOF foudnivyg )

9. If EF=2x-12, FG=3x-15, and EGl=_,)23, find the values of x, EF and FG. The drawing is not to scale. (Sect

12) 1:‘ F _10 IR-1243%-\6 =23 EF-2{(i0)-12
Toax-ll AxAS N 5% -21:123 \Ep;g’

94750 FO = 3(10)716

[t | [Fe-15 |

10. A climber uses a rope to descend a vertical cliff. Let A represent the point wherethe rope is secured
at the top of the cliff, let B represent the climber’s position and let C represent the point where the
rope is secured at the bottom of the cliff. (Sect 1.2)

a. Draw and label a line segment that represents the situation.

i\ ° /

b
(e
b. Write the equation using the segment addition postulate.
AB+BC= AL
c. If ACis 52 feet and AB is 31 feet, how much farther must the climber descend to reach the bottom
of the cliff.
3eh(:=52




—_ LYY Xz Y2
11. Given that the endpoints of AB are A(7, 85 and B (4, 2), answer the following: (Sect 1.3)

a) Find the coordinates of the midpoint.
(1Y g+2 ) 40
w(202) . (3%) e

b) What is the length of AB? (Round answer to nearest tenth).

A= JanH (20 - {90 (o - Jav36 = fg ¢ ] b.‘ll

12. The midpoint of MN is P(5,5). One of the endpoints is M(-4,2). Find the coordinate of endpoint N.
(Sect 1.3)

See \ast page for sotuhion

13. If T is the midpoint of E, find the values of x and SU. (Sect 1.3)

I AX:4xt26  gr=4(5): 4S
—|—— o—}+ e
N 9%=25 TU=4(5)+26 =4S

both sides are equd | m CuzUg+46 = 40

14, 1\76 bisects ZLMN, mZLMN = 5x-23, m£LMO = x + 32. Find mZNMO. The diagram is not to scale.

r'_lﬂnt: Think about what it means to bisect an angle. If m£LMO = x + 32, then what is mZNMO?
1€ theangte (¢
9 A+3A+X+33 < 5x-a3

D v brecred, g < NMO = 29 +32
Siae Was to ve 2KA6Y = Hx-1%
AT ne same b4 - 5X-23 @
§1= 3
15. Given m£WXZ=84°, find m£YXZ. (Sect 1.4) ‘ %29 l
%+3+bx%-3 =&Y meyxe = bliz) -3

Th=84 \mLYX2= b‘\“z

| %= 12




16a. Write 3 names for the angle shown (sect 1.4)

LRO\, ¢\DA , 2D

A
A4
verrex has fo

o ! be inthe mddie

16b. Draw and measure an example of an acute angle, obtuse angle, straight angle, and right angle.

awie: & obtuse: K gt
shagnt:
57- - \’.bo qo°

= . ’. 1§0

T

17. The foul lines of a baseball field intersect at home plate to form a right angle. You hit a baseball
whose path forms an angle of 64° with the third base foul line (see figure at right). What is the angle
between the first base foul line and the path of the baseball? (Sect 1.4)

Xtb4:90

]

18.If £A4 and 4B are complementary and m/A = 52°, what is the m£B ?
meA +med =940
H2+mep = qo

Mep = 3g° {

19.If ZJ and ZK are supplementary and m2J =52°, what is the mZK ?

med+mel < 1§D
52+ me <180

| e m"]

20. If A and «B are complementary angles, m <A = (3x — 10)° and m B =(x + 8)°, what is mzA?

meA + me® =90 med = 3(23)-10

%40+ X+§ 2 Q0
4x-3=4Q
4xz93

‘X'—'Z%}



Using the diagrams below, please solve for x.

A

21. ooty

ax+15° € ¥

# Gy + 25°

q0*
Uxt19+bx 126 <90
10X +40:40
\ox=60
‘ *=5 ’
23. Use the diagram below to complete the following:
a. Name two acute vertical angles.
<EKH dand <FKG
b. Name two obtuse vertical angles.
<EKF and <HKG
¢. Name a linear pair.
<EKF and ¢ F¥KG or <HKE and ¢ EKF
d. Name two acute adjacent angles.
<6k) and ¢jet or 6Ky and <GKF
e. Name an angle supplementary to ZFKG.
<EKF or < Gid
Given the diagrams below, please solve for x and y.
24, 25,
(vernial 0'\9\“) (veyntin cmgics)
BX'M‘&XN '19.199'-,][‘;
X -3y 19 > 2

[x6 | o

8x +20°

MHO"

S

[
L

Y

% uncar pair (supprementary)

YX+20+ X +\0= \§0

15X +30 = |80
15X =190

(WeaY pr)
4R +10 3% 423 2160

X 433150
Ir W

Supgnivte in o
\Jour anghes

| au-=y l (verinal angles)



26.

A g@n e’ B

C s - (o® D

* RUADRA-PLOT I ™
El Sorpe e
PN PODIXIW

|

|
|

gx+394§%-a 2180 (unear paw)

Lo X +36 =\%0
tbx = Uy

]

Hy+Y4 +129+35 =180 (Lncar vair)
Byr 4=\
13\ <138

] L] Fromendpoint M to midpomt P:
N

up 3 units, right 9 units

e . Repeat pattera from ¢ o hnd N

(14,8)



Unit 1 Review Packet Answers

1) Possible answers include: ‘ﬁ, BG , line m etc.

2) Possible answers include: GD, DG or AB, BA etc.
3) E‘f, TD: ﬁ, ﬁ, R‘), and GB

4) G

5) Yes, 2 planes could be the wall with the floor. Or two walls next to each other etc.
6) Possible answers include: C,G,E or D,E,F

7) Possible answers include: C,G,F or E,G,D C?
8) See sketch to the right > 8)

9) x=10. EF=8, FG =15 £7
10) AB+BC=AC 21ft
11) M(5.5,5), AB ~ 6.7 ’
12) (14,8)

(If you got (-13,-1) then you used the wrong midpoint...like I did originally by accident @-mm)
13) x=5,SU=90

14) x =29, 61°

15) x=12, 69° 20° 130°
16) ZADI, ZIDA and ZD 4 \ - P 180° 90°

(measures may vary) Acute thuse/ A Straight . Rigﬁl

17) 26°

18) m«£B =38°

19) m/K =128°

20) mLA=59°

21) x=5

22) x=10

23) a) LEKH & /FKG
b) LEKF & /HKG
¢) ZHKE & ZEKF,/HKG & /KGF, LHKI & ZIKF, ZEKF & ZFKG
d) ZFKG & £GKJ
e) ZEKF, LGKH

24) x=25,y=18

25) x=21, y=94

26) x=9, y=6



